PART # COLOR REVISIONS

ECR/DCR REV. DESCRIPTION DATE APPD
TRIDENT20-BK BLACK - - INITIAL RELEASE 08/01/13
TRIDENT20-WH WHITE . 1 REVISED KEEPER MAGNET COVER AND DATE INSERT 05/05/14

1.82 —~ [~ 1.20 —

V4

1.54 — -
20.17 18.96
© o
O
© Q
L LI I {1 © |
—
3.00 = o
| DIMENSIONS ARE IN INCHES NAME DATE
' 1] TOLERANCES: DRAWN EET @ 8-1-13

NATIONWIDE

FRACTIONAL+1/16" CHECKED

ANGULAR: MACH#1°BEND *1° INDUSTRIES
TWO PLACE DECIMAL  +0.01 | ENG APPR.
PROPRIETARY AND CONFIDENTIAL THREE PLACE DECIMAL 20.005 | FG app. TOP PULL
i« 331 —» THE INFORMATION CONTAINED IN THIS | MATERIAL QA LATCH ASSEMBLY

DRAWING IS THE SOLE PROPERTY OF SEE PROD DWG COMMENTS:
NATIONWIDE INDUSTRIES. ANY ENiSH OUTLINE & DIMENSIONS
REPRODUCTION IN PART OR AS A WHOLE SIZE | DWG. NO.
WITHOUT THE WRITTEN PERMISSION OF SEE PROD DWG B e CS--TRIDENT20 R,EIV'
NATIONWIDE INDUSTRIES IS PROHIBITED. DO NOT SCALE DRAWING

SCALE:1:2.5  WEIGHT: SHEET 1 OF 3



<~ 1.59 —

KEEPER

~—2.60

e\ L b

’<71.15—>‘ - .89 |-

PROPRIETARY AND CONFIDENTIAL TOP PULL

THE INFORMATION CONTAINED IN THIS DRAWING IS LATCH ASSEMBLY
THE SOLE PROPERTY OF NATIONWIDE INDUSTRIES. ANY

REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE OUTLINE & DIMENSIONS

WRITTEN PERMISSION OF NATIONWIDE INDUSTRIES SIZE | DWG. NO. REV.
IS STRICTLY PROHIBITED. B CS--TRIDENT20 1
DO NOT SCALE DRAWING SCALE23 | WEIGHT: SHEET 2 OF 3



KEY TAG
NON-TEARABLE
PAPER

(1) STRIKER ASSEMBLY

TRIDENT20 /

PACKAGING INSTRUCTIONS:

1) POLY-BAG MOUNTING SCREW KIT
KIT CONTAINS:
(11) #10 x .75" SELF-DRILLING PHILIPS FLAT HD SCREWS
(1) #8 x .38" PHILIPS FLAT HD SCREW
(1) UPPER MOUNTING BRACKET
(1) LOWER MOUNTING BRACKET
2) "Trident"” PRINTED POLY-BAG:
(1) TOP PULL LATCH ASSEMBLY
(1) STRIKER ASSEMBLY
(1) MOUNTING SCREW KIT
(1) "Nationwide"” INSTRUCTION SHEET
(1) WARRANTY SHEET

(1) LATCH ASSEMBLY

with KEY

(11) #10 x .75" SELF-DRILLING PHILIPS FLAT HD SCREW
MAT'L: 18-8 STAINLESS STEEL
FINISH: PAINT TO MATCH LATCH

(1) #8 x .38" PHILIPS FLAT HD SCREW
MAT'L: 18-8 STAINLESS STEEL
FINISH: PAINT TO MATCH LATCH

(1) UPPER MOUNTING BRACKET

3

(1) LOWER MOUNTING BRACKET

PROPRIETARY AND CONFIDENTIAL TOP PULL
THE INFORMATION CONTAINED IN THIS DRAWING IS LATCH ASSEMBLY
THE SOLE PROPERTY OF NATIONWIDE INDUSTRIES. ANY
REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE OUTLINE & DIMENSIONS

WRITTEN PERMISSION OF NATIONWIDE INDUSTRIES SIZE DWG. N

IS STRICTLY PROHIBITED. B O.CS- -TRIDENT20 RE'|V.

DO NOT SCALE DRAWING SCALE12 | WEIGHT: 1.762 LB. SHEET 3 OF 3



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View247

	Sheet3
	Drawing View11
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View248
	Drawing View249
	Drawing View251
	Drawing View252
	Drawing View253
	Drawing View254
	Drawing View255
	Drawing View256
	Drawing View257
	Drawing View258

	Sheet 18
	Drawing View213
	Drawing View214
	Drawing View215
	Drawing View216
	Drawing View217
	Drawing View218
	Drawing View219
	Drawing View220
	Drawing View221
	Drawing View222
	Drawing View223
	Drawing View224
	Drawing View225
	Drawing View226
	Drawing View227
	Drawing View228
	Drawing View229


